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Name ____________________________________________

braham and Sarah received 3 ___________.  They __________ they   

were _______, but they were really _________ of God.  They told 

The angels told Lot to gather his wife and 2    
daughters and leave right away. They held 
their hands and led them out of the city to 
safety. They said, “Flee for your lives! Don’t 
look back, and don’t stop anywhere in the plain!” 
What happened next?

Connect the dots, solve the math problems and write 
the proper words on the lines below.

✑ = men
✔ = stayed
❑ = afraid
▲ = visitors
❆ = people
✙ = thought
● = visit
✕ = city
❁ = save
▼ = destroyed
✦ = angels
✐ = destroy
✬ = spoke
➫ = evil
❷ = remedy
✱ = found
➔ = righteous

Use the code
to complete

the story. Abraham they were going to ________ the _______ of Sodom to see if it was

as _______ as they had heard. Two of the __________ set off for Sodom. The

LORD then ________ with Abraham. Abraham was ________ for his

nephew, Lot,  if God ______________ Sodom.  The LORD told Abraham that

He would not __________ the ______ if there were 50 ______________

___________.  Abraham pleaded.  The LORD said He would ______ it for 10

_____________  _____________. The _________ arrived at Sodom.  After

Lot pleaded, they ___________ with him. They ________ 

the ______ was so ______ 

that there was no ___________.

____  _______  ________  ___________  _______  ___

_______  ____  __________  _____  ____  ______  ____  

___________  ___  _____.  ____  _____  _____  ____  ____

_____; ______  ______   _____  _____  _________    

_______  __________  _____  _______.

17 + 3 =         20 – 15 =               3 x 3 =                       18 – 1 =                         12 ÷ 2 =    13 x 2 =

8 + 2 =          30 – 6 =                 8 x 2 =              12 ÷ 3 =  12 + 7 =       3 x 9 =          10 + 5 =    

5 x 5 =              20 – 2 =  2 + 1 =      6 + 6 = 14 – 1 =        30 ÷ 15 =    15 + 16 =   27 – 4 =   

2 x 15 =         10 – 2 =              13 + 16 =    3 x 7 =          3 x 5 =              4 + 3 =      
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30 – 2 =                     9 – 8 =                  2 x 7 =            2 x 11 =


